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 �"�#$%�&'�� "�%������ �����������(� #����*��
#+�(� "$��%�(� �,��+�
 % "�#������ %���- "��.*��� ����+�� "��������� % +�#����(��� /��� �0
"��*�� 1��(� % ���
 *�� ������� ��� -%�-��#- ���,���� "��#�$� �0 �0%�#��$2 ������3
 +����
�$� ��(.� �"�#$%��4 %��-��� "��#����#�%����3 �����������#�� "�#��-���3 5�,,�� � "�����#��
%�'�#�%� �� +��#��� #��'���� #%���
 "��2��-'�(� + ��,�&�����& �� "����$2 #�,$��3� 6 ��
7� %���-
 ������� ��� % �,'�� #�.*�� #����7�� �%� "���0%��4�$� �.�+8��
 *�� "�0%��-��
"�� #���%��#�%.&'�� �2 %$,��� �,9-#���4 �0%�#��.& 0�%�#���#�4 -�+�#�� .������$2 #%��2���
%$2 �� +��#��(� #��'���- ,�0 "��%��*���- �����3 1���(��� :����,��� �0��7���� ���� � �,0��
��,�� % �����3 �,��#�� ��7�� ��3�� % ;�
 �℄� ��.(�3 %�7��3 �#�,����#�4& ������- ��� -%�
�-��#- %�0��7��#�4 �"�#���- %�3��% � ".#�$2 ��� #��4�� ��0��7���$2 �,��#��3 "��#����#�%�

�+�.7���$2 #���+��� # ���(� ,��4��3 +��8�����8��3 (���+��+� :� #�%������$� ����$� %�3�$
-%�-&�#- ����9������3 *�#�4& +�."����#���,��3 #��.+�.�$ 6#������3  #�� "����� ���������
%���- � +���+�3 �#����*�#+�3 �,0�� % ;	℄!�

/��� �0 #"�#�,�% ��������%���- #���+�
 �+�.7�&'�3 %�3� � �#"��40�%���� ,�#+���*�� ����
+�3 �,���*+�
 �"�#$%����3 �������0��� #��%+� ����.� � ��2����%�*� � =0��1�- ;��>℄� ��+��
������ ��%�� "�����-��#- ��- "�#������- ����������$2 +�#����(�*�#+�2 ������3 ;�℄
 �,9-#���
��- 0�%�#���#�� ��7�. ���������*�#+�� ��##��-���� � +��#�$� #��'����� ;�
�
℄
 � ��+7� ��-
�"�#���- �������3 ���0����"�� ����+��%�(� �0�.*���- ;?
 ��℄� /���+� % "������ �� #.'�#�%.�
�� ,�#+���*�� ���+�2 �,9�+��%
 "�1���. % ����3 ��,��� ��##�����%�&�#- #"�#�,$ "�����4��(�
"���2��� + �,���*+�� �� ,���� �����#��*�$2 ������3
 �"�#$%���$2 �������� ����

�� ������� ������ � 
!"��� � 
!���

6 #�".�#�%.&'�3 #�#���� ��#*��� �����+. ��� ��7�� 0�"�#��4 % %���

ds2 = dτ2 −
r′

2
(τ, R)

1 + E(R)
dR2 − r2(τ, R)(dθ2 + sin2 θdφ2).  ���!

��7�$3 #��3 "$�� ����� #%�� ��+#���%����� 0��*���� ������4��3 +��������$ R� @.�+8�-
r(τ, R) �"�����-�� ��##��-��� �� 8����� ��- *�#��8 "$�� # ����$� R � -%�-��#- �������� .��%�
����3

ṙ2 = E(R) +
2m(R)
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LTB
R = R

1

R = R
2

���� �� ���������	
�� ���
������� ������� ����� � ���	����	��� ������� � ������� � ������ ��� � ���	����	���

 ��
��	
�!�� �"� � ���#��� ���	����	��� $���%#��&�� ��� '��������

r̈ = −
m(R)

r2
, �����

��	 ���
��� m(R) ��		� ����� ��������� ����� ���	� �	�	���� � ����������� 
�����������
�	������ R� ��������� ���� ��	��� ���� 	��	�

ρ(τ, R) =
m(R)′

4πr2(τ, R)r′(τ, R)
. ���!�

�� �������	
�� �
����� 	��� � ��	����

���������� ��	��#	�
�� ���� ����$ �
�� �%��� �����	 ������������� &� ��	��	� ������	 ��'
	����� (��� ����$ �������	��� �	�	��	� )*+$ � ��	���� ������������� ,���������� ���
-������� ����� ��� ����.��	 ���	�� ��������������� � ���	 ��.�� /0$ �1$ ��℄$ ����
� ���	� �	'
��% .��	� �3�#	��	 ��	�	������ �	�	4��� 
 .	�
��	#�� ���
�� ����	 ���#��� �.������ 5���	���
������� ���� ���� 
 ���%$ �������� 	�� ����� �	�3�	����� ����#���� �� � �	3������	 ��
��� �	'
�	4��� .	�
��	#�� ���
�� �.���#
�$ �������	��� �������3��� 63��(��7
8 �������3�	 63��(�� ���
�� �.���#
�$ ��3�	��%��� �	
�����	 �����	��		 � ��	��		 ���'

������������$ �������	��� ����	����� ����
�$ ������� 
������ 3�
�%#�%��� � ������	��� �	�'
��
$ �������������4 �� �.���#
	 � ��	��	� (+) � �����	��	� (−) ������9

dσ±2
= dτ2 − g±θθ(dθ

2 + sin2 θdφ2). �1���

8����	��		 ��	�� �.���#
� τ ��.���� ��
$ #��.� 
�(�����	�� ��� dτ2 �������� 	�����	9

g±ττ = 1. �1�1�

5������ ����
� �1�1� ��	��	 � g+θθ = g−θθ ��� �� �����	��������� ����	 ������	��� ��	�	������
�	�	4��� 
 ���
�� �.���#
	 �� �����������	��� ��	4������� ���	���
*	�	�� �������� ����
� ����	 ���#���� ���� �	���������� ���� � �
�� �%���� 	�� �.'

�������� 8 ����#�	 �� ���	�� ���
�� �.���#
� 3�	�� ����
� ����3������� �� �	��	���#	�
��
���	�4������$ �	 ��	%��� �����	��	� ������ 63'3� ����$ #�� �� ��.���� ���������%��% ��'
��	�� ���#	��$ �����	��	 �����	��	� � ��	��	� ���	�4����	� 3���%��� �������� �������	�����
R = R1$R = R2 �����	����	���$ ��	 R1, R2 : 
��������� ; ������% ������	��� �	���4 �����'
�	�������4 ���� ��.����	��� ��	.�����	 ���	����� ��	���4 
����3� ���	�4����� ����
�$ ��'
#���	���4 � ��3��4 	< ������� *�
 
�
 ��	 ����������%��	 � ���	�� �	�	��� ��	%� ���	��	
����	��	$ (�� ��	.�����	 �������� 
 �	��	�������� �	
��	� ����� =�3�	�� > ,����� *� 	���
m(R1) = 0$ m(R2) = M $ ��	 M : ������ ����� ����	 ���#���� �����
=	���
�$ �������������� �� ���	�4�����4 ����
� �	�	��	� )*+ ��		� ���

dσ2
1,2 = dτ2 − r2(τ, R1,2)(dθ

2 + sin2 θdφ2). �1���
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R

r

R
1
(τ > τ

0
) R

2
(τ > τ

0
)

1

2
1 − r(τ

0
, R)

2 − r(τ > τ
0
, R)
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���

���� ������� r(τ,R) ����
 ����������� �������� �������������� ���
����
[R1(τ), R2(τ)] ���
��
��� � ��	
��
��� ������ �����
�����

������ �	 
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��� �
��
���� r2(τ, R1,2) �
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������� � �

�������
���� �
��
�
����
� g±θθ� �
 � ������� �
���
� �
����� g+θθ = g−θθ ����
�����!�


lim
R1→R2

r(τ, R1) = r(τ, R2). "#��$
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��)�� r(τ, R) ��� R1 → R2 �
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�
 �
����� ������� τ0 � ������'���� ��	��'��� ��
�� ���� "��
�����$� 4
������'���
� ������� ����'�� ��
����� ����
��� � �
�
 '�
 ��
�	�
���� r′(τ, R) � ���
�
�
�

&����� ����
����� ���!�� �
�� '�
 �

�������
�� ����	�'���
� ���
�)�� �	�	� 
���)����!�
�
��
��
��� "+��$� ��
�� �
�
 � ��	
�!���� ������'���� ��
�� 
��
�
 � �
�
 �� ������������� ���
����� ��
��� ����� ��
���� 4πr2(τ, R) �
�������
�� ��	��'��� 	��'���� ����� m(R) 5+�℄� 7�
&�
�	&����!�� 
� 
���)����!�
� ��
��
��� ������� �����'����� ��
� 
� R = R1(τ) �
 R = R2(τ)
"���� #$ �
�������� ���������!��� -������� .��������� '���� �
������ ����
� �
�����	�

3���
� 0 /�����
��'� 0 2	������ *�� ��� 	��'���� ����� m(R1),m(R2) �� �����)�� ����	���
�

&����� ��	��'�� ������ �
���� &��! ���
����� �� �
��
� 
&
�
'�� ���
���
� ����� � �� ��
��
�����'���
� �
�����
����
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�
'�� ���
����� �	 
��
��� ������� 4 ��'����� ��
������� �

������

&
�
'�� ξα ��&���� ����� τ � 
��� θ, φ� *
��� ������� �� �
�����
��� 
&
�
'�� ������ ���

dσ2
1,2 =

(

1−
1

1 + E1,2

(

r′1,2
dR1,2

dτ

)2
)

dτ2 − r21,2
(

dθ2 + sin2 θdφ2
)

, ",�+$

��� ������� 1, 2 
��	����� �� 	��'���� �
��)�� �� ��
������� R = R1(τ) � ������� R = R2(τ)
�
�����
���� 
&
�
'�� �

����������
� 2	 ���������
��� ����
� �
���������!�
� �
��� ����
�
��

1

1 + E1

(

r′1
dR1

dτ

)2

=
1

1 + E2

(

r′2
dR2

dτ

)2

, ",�#$



�����������	 
����� �
����	� �� ���� �	�	
�� � ����	�� � ����� ��

r1 = r2 ≡ r. �����
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��#

r′1√
1 + E1

·
dR1

dτ
= −

r′2√
1 + E2

·
dR2

dτ
. ���$�

%���	 ����
 �
�& "�
 �
 �
��  �
������ �� �	���	
���
�'
	��� ()*�
�����	��,�	�

��� 
��	��� ����
�� ���
 � ����� 
����� � ���$� ��"
����� �
��� �	��"
�����

dR1,2/dτ

dR1,2

dτ
=

ṙ2,1 − ṙ1,2
r′1,2

·

√

1 + E1,2
√
1 + E1 +

√
1 + E2

�����

� "
��� � �	���� 	
���
�	�

���� ��� �� ������ �

dr

dτ
= ṙ1,2 + r′1,2

dR1,2

dτ
=

ṙ1
√
1 + E1 + ṙ2

√
1 + E2√

1 + E1 +
√
1 + E2

. ���-�

��� E = 0 .�� 
�	
!���� 
 �������� ��
�
�
�� �� � �	����/ ��
	��� 
����� ���������� 
 01�℄
�" ����
�� ��� ��
 4 �/������

)��"�	 .��	���'�������
 ���������� ������ ����� 
��

Tαβ = Tαβ
����

+ Sabeα(a)e
β

(b)δΣ(x). �����

6���� δΣ(x) 7 �����
 ��� ,�� ��	
 
 � ��������� �
 ��� �� ������ �� Tαβ
���� 7 ���"�	 .��	���'

�������
 ����� Sab ����� ����� ��
�	&�������� ���"�	
 .��	���'�������
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������
 	�
�"��� ������ � Kab �	
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Sab = −
nµnµ

8π
([Kab]− [Ka

a ] gab) . ���8�

�� ��	�������� ����
 ���� 
��  ��������� Sa
b 	

�� ���/ � �	���	
���
�'
	��� �����

����

	������� ()*� ����� 
�"�� ��
����  
���� � ��
���
�����  ��������� Sa
b ����� ���� ����	'

�	���	�

��  
 ��
�	&�����
� ��������� σ � �
����,�
����� �

����� p� � �	����
/� 
��

σ ≡ −Sτ
τ =

∆m

2πr2
√

(√
1 + E1 +

√
1 + E2

)2
− (ṙ2 − ṙ1)

2
, ���9�

p ≡ Sθ
θ =

(2πσ)
3
r5

4π∆m3

[

4π (ṙ2 − ṙ1)
2 (ρ2 − ρ1) r

2 −

(

ṙ′2
r′2

−
ṙ′1
r′1

)

(ṙ2 − ṙ1)∆m,

]

, ���1:�

��� ∆m = m2 −m1 7 �
��
 ������ ��
;�������� 	
����  �� 	����� ������ 
���
 � ��	
"�

���� ��� �� ������ � 
� 	�� ���� ���


������� 
 01-℄� �� ����	����/ �
��� ������ �
��
 ������ � mΣ = m(R2) − m(R1) �� ��!��
���
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����� % �� !� 
	��� �" "
 ��
 ��&	
����� Sb

a;b = 0 ������� 01�� 18℄

4πr2
(

σ̇ + 2
ṙ

r
(σ + p)

)

= ṁΣ + 8πrṙp = 0. ���11�
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